A 5y «5’; ;f", rwf FE i)

i

3

©

4
k1Y
St

3

%
%

{ 23 K LY / w;) e, WE:%
2D ¢sco =5 im0 @Q il droz i (2=

& @ g
A "ffé"; AT

Cojor =y

{(/\:?’“
‘é&wf L

. (% - u.z
() +y "= W)%
1 N [ flﬁ; .




5[6) mej géﬁf%wsfg E'fs ;M;@gf‘%g»ﬁ
‘{{«;ﬁ} «:Sﬁ*“}§

@Y octxs o (63 ffv)=dun (62}

A
Qa%ﬁ@@ o hx EFT
* o e 71

2T é’ I‘f‘{ﬁ)@ . NS - %

(D) gt 0 oo Fxer )it

I%rfé‘mﬁ - 7

; o e TV
) ot m""]" T A {#
L B oo DL T

; - -7 t:i-.‘i“'f” ey rE ?TW .
-2 g,*rrxﬂ’l Yrr - 2

e - G g b

PR S

{’" . i ) ‘ Y / T X ?ﬁ %{ﬁgé;
“x@ 5{ m { ‘{‘lfé C.D &! fgfé & ;j A.i@&’?;,/ 4‘?5?33% Himrt
{j@w A “ﬁm g{“ﬁéﬁk‘ %& K,! (i’xaz;x”%“f)
Dy W
secu=1 (FawtD)

taax (f&”}”’ vi‘ >

e

Sep P ~1

CoSriery —

B, .
Sec w I

f&)%}@ﬂ o 3R

s s

?

f Eviins .I‘ :
w"’ i’ é/




—

| A {‘;} 2”) ZS:'./VIK cosx={ 2 Slax CZD Solns: Sectx-secx = 2

'M”JK""JZS:AX o= )
(#x (Zeasy “JZ)=0
2easx —{2=2

2eoin= U2
| V2,

iy = .23=

X =2

(‘Z.?; Solns i[ol, 217). Z 5102k —SSiaxt 2=

Q:Jr\ryc
Zl; -S54 $L == v 4
(2_..4\ Olwy)

TR R

I
(Z“”Xu —2) =B
S | ) siax—=0) fiws2) ="

Sax =T

s zeix=l T s

);In X = 7}

Sec'lx —Serx —& = =

W =Sy
ql"—- u — =

(a=2)u+! )=?

(secx—){(Seecx44) =2

g =2
& x ="‘z‘.

56'16?‘:5*|
|

(odyy =

— 05315 a5 b 4 sa3l

R A +

'b; = = L '“‘—-3'—"1—7
315 3.‘%‘-—-%?’2 4

> (usa o587 = (59° =7)

[,D.!'
C WSy sin@ e 4
;of,sm(i@-ws)l - {%
- ey I8
r ( -,-uvq—

N

5 +Y

b -2

53
=

-3 f\ﬁ‘_ﬁn\{s,

- —



! @ A Ares sreked 3, f??fﬂ (ig ; Jﬁg G/ te g‘q'g LA =T L e 3 ’ﬁ%
stm,s Lo ' 0

IA" f%}»ﬁis}{;}”"}z &

i

ﬁ"f‘m -7

frosd HLC rearelt cleg |
lcww A»{ f"ﬁén\ﬁﬁi |

5 et b Zabesl o
5 é&%@g - a{éﬁzém

(3) A A=us®, b=is, 3 Audd 4 rao) i

. S l'f [f.?t,w c\”p c:;&jf'm};g
o B

. . | | e 4* g‘;é“ ?«ﬁ* T
T m
USRI S § a Mzrzﬁmjo —Zd*ﬁgga}éawéf

”""’""““"""m
- .‘ga’:!«?«f’; {

{aw o«ii-j;lmﬁ {
¥

S Wﬁﬂf g
e T
f@w 15 1 f ‘i“w».z&

‘-»-,,.. e

27 = f’é}

7 (égjg% »ygjm??i?}

‘:« iz

4ﬁﬂkﬁ?+@ﬂs}




Aoty e eul LZ { o5 o +5:0705) | ¢ (25 7 Dowswes e vt dort =233

A . . e
=z Z_GDS b 200" 43 *ﬁ‘:?:’wj' — A 'Zﬁzf&m}; ZanP e e Y

= 6t [ cos oo+ 5im 11907 . W e e
|7 ot /:[505"“ Prhnta

W - = 1
}%é#(g,ma [ ldin @2 { - ke o
= W{Jm&wﬂiﬂ"?’

= 3&956?}:) +($1 W )i

}ﬂda’ ) Zmﬂ/"z@

e

r/'_, (:'o- w.z .
f@ e flecrtfo st o0 Z/fﬁ’ [ Ww:ffr »{ cos 205 13 f’m}
fertinslcry L2 2 el = 2 {5 3371 (512330

. = A {130
szf;(& »4)«5 ﬁ | 3?«) 5“’*%& é’?{m ot WWW,?W?“&% m} - tfg é;'f o )
dotgezdlnd
d, = ld+ 2 dlpety = j%

CSumnl Pre .;QMM B N
Ay ,Zw?” (:; {ode st} '

4 &53"§ }A "Z

jos@ 4 aas

E—

PN ‘
(=) " {imo—m)=

Erurt fem = W::ga : L ¢on fu}(i ww_
A= &

A Sum oty 2T

- {

5 gt
o

T v TR
TR RO S A
{iéy Y vty + =

NI T P L0 A i K I
r{m Ty e 5l o e d

Tese _ |2
Fyo . L2z vho |, Yo o f’ 2 WMCW

RS

W %z;:; -? gva e gg’-;” o zm
ﬁz %%

T ozeo




) @ ﬁﬂd wﬁ(ﬁk;&é @“’_ff_l @ / o ”{M &%ﬁi ey

(a) f.:;y%f (7-34)" (&) f(wg) { by
SN f. RS /(f )

i"d . s *vmw = :"l-: | / J "3;;

se s 5'3"31‘

G (5 (&

P < B P SR el
2 [«:&33: (Y @ s W lstes 3 gl 7 1 G FT T
rE o, ; -
Q{:ﬁ {’?ﬁ}d{”%}z r

3 ) ordas ot
12 {4 ﬁﬁ){”zzf}f} ZCa "Zé 76 26 /o 010

e e [

:L‘“{S'-"“é}‘}i? (a0 s;:;j

@9 é‘fy} e @ 37 WW Taw/m lz w“‘i‘*’»!‘ wﬁa"}ﬂf‘
/4’7‘/7) /#?!mf%«ﬁie" ﬁ ( 3 @) ?
ﬂ?zm> = Pl F+5?) W’“’“ } Fiba )

| 2, F v Tz
Ei, Z.4 et Gy

r'

&‘-‘ f},c%
f.

L/y /? f’a*"f»f' ' jméﬁ e ;;M?i'mfé
7
('% moin )

(:;5 rguw%f?% %f‘v@?’?% '

s fas |

@7) exactly £ wWose ;-uef-'fﬂ--*'w----*‘m’

fzé_jﬂ} M‘”mr @‘w’j oy r[‘,-s,‘i

"'.f::‘%[ .qﬁf#”%?)*ﬁw gped gﬁ?@aﬁ M_C;’ /P?’D

B e

S : Cf A
_ ‘f«—«@{a by I

@ ﬁr‘fp}fi _
~ g 5x -3 ¢~H (6) C zy+Zy;
(é)f fmifely- 20 () %3 | g xg,}é

(i3 ?w gz -2 g sy




G2 ol Xty =7 ) EMME XFryTosey
SAvASe _ - rovy

J=4-x | p e

N (oFy e Fy v et

Wt fe—dn bx® o iy Sy FoF =

ZXawr’E"x /6 == ﬁwj& *gj i iR

12 Fx =T Kobxid 2T o — EE(TT- w}f 4r)

Xz Yoo | Cx "’l‘f)(x 2)=e <7 ' ’”"”7’
e ] x_-— =2 Jo B 2

) Mimww : Tz
f ’T“Cgfz,} 2 Y= Ser TIF

g :ﬂé{’fm(f") w Cm 16t (*!?)
\/‘ﬁz? L. xF=2

,,‘,,,,g"z, P e

GO }'ﬁ%_ww’f?‘ z(a D (), C30)]

- 'f'z }{Ig’ 5 H
S @ Sibve  Zxhy-FE=A

e f

x.w"'!fj ! 5 e w,fg,, i)
5@5#;:&@@; - ¥ ;}f =
z 3 Waﬁfw;;’fe“"’»?e;ﬁm-{ c

b iR

. w3
.,.EM - y g

!J;?Q solurhae ‘ s
mmmmm - fa b opl
Wéwgg,.&[{) 2 & (Q

-2yt E
! %j £ TR {fd\ffm é g éur }

3 3 -& 3 g ~2y = ~ga =Y
T yo Fa Tl

‘ g P ? jm!‘i i MgT 2 f-3a+?2 “‘_5}‘{3 =M
L N o B 2% = Yat?

\7{ - 2‘4 _F ! I P

wm“‘“"

o




[
o

(4) [W&’i— 3 |
-4
[ L

| ;”5»3 ; -»f,aeag*
§ u@@é% : f??'}

. ‘}Jf Dg;fj‘*“?']ﬁm\@a% ””ﬁi{,

=T 43¢ 7 7 73

f?w 43% F;%M%

SN 0




Name Period

Spring Semester Open-Ended Final Exam Review — Honors Algebra 3-4

5 : g :
L a. Convert to degrees: € = -8£ radians. b. Convert to radians: & =175°, leave answer in terms of 7.
, 25 ’
2. If the cosecant of an acute angle is o find the value of the cosine.
. -17%
3. Find the reference angle for: a. #=435° b. &= 5

4, Given the following, find &, 0°< @ <360°, to the nearest degree:
a. tan@=3.8958 b. sin@=.2654 c¢. sec@=2.0717

53 Given cotf :_le and cos@ <0, find cscd.

6. Given 5609:%3 and cotd >0, find sin8d .

7 Two 100° guy wires are attached to the top of a telephone pole, one on each side. The angle of elevation of each wire
with the ground is 57°. How tall is the telephone pole to the nearest foot?

8. From a 75-foot observation tower on the coast, a Coast Guard officer sights a boat in difficulty. The boat is 625 feet
from the base of the tower. Find the angle of depression from the top of the tower to the boat to the nearest degree

9. Find the exact value of the expression: a. csc[ces" (_?3]} b. tm[sin"' (1_—3]:'
1
10.  Find the period in degrees: a. f(x)=cos [Z x] b. f(x)=tan(6x)
11.  Write the sine equation for the following: 12. Write the cosine equation for the following:
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14,

15,

16.

17,

18.

19,

20.

21,

22,

23.

24,

25,

26.

27.

28.

29.

30.

3L

32,

Graph: f(x):—SCOS[gx—f—fr)H

Graph: J(x)=4csc(x)
Simplify: tan® x~sin® xtan® x

2
Simplify: S *=1
secx—1

1 1
+

Perform the addition and simplify:
I+cosx 1-cosx

08X

. " ¢
Perform the subtraction and simplify: cosxsecx -
seCX

Find all solutions in the interval [0,27): 4cos®x—1=0
Find all solutions in the interval [0,27): 2sinxcosx = VZsinx
Find all solutions in the interval [0,27): sec” x—secx =2

Find all solutions in the interval [0,27): 2sin® x—Ssinx+2=0

Evaluate: <¢0s255° (Use the fact that 255° = 315° - 60°),

Evaluate: sinl05° (Use the fact that 105° = 150°- 45°),

-12 Ar N T

Given cosu:l—,fr <u <7and cscv:T, 5 <v <, find cos(u +v).

Given cotu=§,0 <u< gand cosv:«jsi, <Y< 37”, find tan(u +v).

Find the area of the triangle to the nearest tenth, with sides of length, 5, 9, and 10,

In A4BC, BC =90, AC= 52 and m<£C = 102°. What is the area of AABC to the nearest tenth?
Given a triangle with sides a = 6, b =8, and ¢ = 12, find mZC to the nearest degree.

Given a triangle with A=115° b=13,and ¢=10, find to the nearest tenth.

Solve for x, to the nearest tenth, in the given triangle,

Find all remaining sides and angles of the triangle with B=61°,c =18, and b= 17.
Find angles to the nearest degree and sides to the nearest tenth.




33,

34,

35.

36.

37

38.

35,

40.

41,

42,

43,

44,

45.

46.

47.

48.

49,

50.

Rewrite the following in trigonometric form; express the answetrs in both degrees and radians:
a. -3 b. —2-2iy3

Use DeMoivre’s theorem to evaluate: [2(cos300°-+isin300°)]°; express your answer in degrees.

Use DeMoivre's theorem to find the cube roots oft -27/; express your answers in degrees.

Write an explicit formula for the arithmetic sequence: 2, 5,8, 11, 14, ...

Write an explicit formula for the arithmetic sequence with a first term of 100 and a common difference of -8.

Find the 83" term of the arithmetic sequence with a, =1.8 and d =2.4.
(Assume that n begins with 1)

Find the sum of the first 21 terms of the arithmetic sequence whose nth term is a, =2n+5
(Assume that n begins with 1).

50
Find the sum: a. Y (1000-5n) b. ¥ (express the answer as a fraction)
n=0

@ (7Y = (=2Y
Evaluate: a. > 4f— b. 2| —
valuate 3 (3} > [3)

nw=l

12

Find the coefficient of: a. x'y* inthe expansion of (2x—3y)  b. x’y" inthe expansion of (x+5y)

A card is drawn at random from a standard deck of 52 playing cards. Find the probability that the card is:
a. red b. aking.

A password is comprised of 4 letters followed by 3 digits. How many passwords are possible?

A password is comprised of 5 letters followed by 2 digits. To avoid confusion between “O” and “zero” and “I” and

“one”, the letters “O” and “I” are not used. How many passwords are possible?

A bag contains 10 quarters, 7 dimes, and 5 nickels. If three coins are selected without replacement, what is the
probability of selecting three quarters?

A bag contains 10 quarters, 7 dimes, and 5 nickels. If three coins are selected without replacement, what is the
probability of selecting one of each coin?

An employer interviews 12 people for four opportunities in the company. Five of the 12 people are women. Ifall 12
are qualified, in how many ways can the employer fill the four positions if:

a. the sefection is random? b. exactly two women are selected?
Graph the following:
2P +y* <25 b (x-D*+(y-3) =16
yzxt+2 T -1+ (p+3Y <36

Graph the system of inequalities,



51

52.

53.

54,

55.

56.

57.

58.

59.

60.

5x-3y<15 Ix+2y>12
a  x=z1 b x<6
ys-2 y=4

A small business has an initial investment of $5000. The unit cost of the product is $21.60, and the selling price is

$34.10. Find the sales necessary to break even.

. x+y=4
Solve the following system: P
X4y =4x
2 2 -
x*+y =169
Solve the following system: . Y
x'~8y=104

2x43y+ 3z= 3

Solve the system of linear equations:

] ) —x+2y
Solve the system of linear equations:
2x—4y

2x+y-—

Solve the system of linear equations:

=15
=3

Tz=4

2x—y~ z=0

3 2
Given: A= 2 1 and B = 6 Find: a A+B
-4 1 -2

-5
Find the product of matrices: a. }: 5

Given the following, Find A a A= [

Find the determinant of the following matrices:

1

-1
8

6x+6y+122=13

12x+ 9y~ 2

|

a.

-3 2 1
4 5 6
2 =31

b. 5A-4B
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Spring Open-Ended Answer Key

1. a 11250 b, D% 2. z
36 25

3, a 75 b. 2 4 a T6°256° b 15°165° o 61°299°
5, 13 6. -5

5 3
7. 84 feet 8. 7°
9. o M7 b, =5 10,  a 1440° b. 30°

7 15

1. f(x)=-3sin(3x) 12 f(x)=2cos e x)
B, : 4. T \/

™2 P 32 27

15. sin’ x _ 16,  ““secx+1
17. Z2esc’ x 18. sin® x
19, L2 Amom 0. onZZ
3373 3 4" 4
a.  E3" n I
33 6 6
A 2 2, Y2
4 4
s 210 % B
130 14
27. 22.4 28. 22889
29, 1i7e 30. 21.3
31, 2.9 inches 32. Case 1 Case 2
ZC =68° L0 =112°
Z4=51° LA=T7°
a=15.1 a=24

z=3(c05180°+isin180°) )
33. a. _ 34. 64(cos0° + isin0°)
z=3(coszm+isinz)



3s.

37.

39,

41.

43.

45,

47.
49,

z =4(cos 240° +isin 240°)

b. [ ar . 4;:)
z=4| cos—+isin—
3 3

# = 3(c0s 90° +i5in 90°)
r, =3(cos 210°+sin 210°)
#, = 3(cos330° +sin 330°)

a, =100+ {n—1)}-8) or a, = —8n+108

567
. 6

a. Does not exist b. g
a. i b. i

2 13
796,262,400
2.
22
a. b.

53.

55.

57,

59.

(112, 5), (0, -13)

no solution

8 =2 3 [—14 17 -3
a, .

-5 0 3 | 11 -9 33

11 -7 (1 -1 0
a6 61 b7 22

2 o 2

L 3 -8 10 -1

36. a,=2+(n-13ora, =3n-1
38. 198.6
40. a 44625 L
105
£, a -1,080 b. 309,375 |
4. 456,976,000
46. S |
77 |
48,  a 495 b. 210
50. b,
2. %), @2
0. (128)
23
56. (2a+l1, 3at2, a)
9 37 -1
38. a. b. [ 4 6 ¢. not possible
48 54
~15 10
60.  a. -75 b. 16



